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: i a) ] ﬁ."j.“"",Show that a graph G w1th n vertlces, n- 1 edgesa and no Cll‘CllltS 1s :‘vﬂ }‘ S
o :Lil',f”connected IR L S
SRR (OR)

L b) | <:va ina graph G there is one and only one path between every paxr of : L o

he ,Vertlces then show that G isa tree e

. Answer ALL questions S
ALL questlons carry EQUAL Marks S R
One questron from each umt W1th etther or type (5 x 6 30) A

11, a) .jsrobtam the Pl‘ll‘l(:lpal dISJunctwe normal forms of
a(x) WPVQ S PR

o b) v:*'j,-‘-“Obtam drsjunctrve norrnal form of - | o R
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12 a) Let ,'R {<1 2> <3 4> <2 2>} and
L AL Lo s={4, 2>, <2, 5>, <3,1>, <1, 3>}
Fmd RoS So& Ro (SoR), (RoS) oR

S 'fj_] by _:"Illustrate propertres of Bmary relatrons ina set

Coo 130 Ay ;}Q;LetX {1 2 3} andf g,handsbe functlons frothnglven by
S RITEN f {<1 2> <2 3>,<3, 1> }, 8T {<1 2> <2, 1>, <3, 3>}

S h={R1 1>,<2,2>,<3, 1>} Cos=1{<1, 1> <2,2>,<3, 3>} RN/

R 5’F1nd fog, gof fohog, SOg, gos sos and fos o Cenl

O _‘ "}:""Prove that n’ +2n 1s d1v131b1e by 3

el 14 .“'a')v':;f4}‘«41}:'5’;—Prove that a. srmple graph W1th n vertlces and k components can have S L
-.-j)"'atmost(n k)(n k+1)/2edges o SIS

_ b) }VDescrlb e Konlgsbefg Brldge problem
o o 15 a) < ;'Prove that every tree has elther one or two centers »
RS ’l‘v',f_”g..jf','.;ib,)z"v.,‘,fi.flProve thatatree thhnvertlces has n 1 edgeS T e e e




